Sample Test Questions for Thermo:

**How much heat will be released when 4.72 g of Carbon reacts with excess O2 according to the following equation? (5 points)
C + O2 ( CO2 ∆H° = -393.5kJ
**How much heat will be released when 4.77 g of ethanol (C2H5OH) reacts with excess O2 according to the following equation? (5 points)

C2H5OH + 3O2  ( 2CO2 + 3H2O ∆H° = -1366.7kJ
(use Q=mcT):

**Suppose you pick up a 16.0-kilogram ball of iron (such as a “shot-put” ball at a track event). The iron (Cp= .451J/g•°C) ball has the same temperature as the atmosphere on a cool day say 16.0 °C. How many kilojoules of heat energy must the iron ball absorb to reach the temperature of your body (37.0°C)? (5 points) 
     **Be able to identify questions (like from above) as endothermic or exothermic and state     reasons why you choose that…. (aka, definitions…etc)

**Calculate the enthalpy change when 5.00g of propane are burned with excess oxygen according to the reaction (5 points)

C3H8 (g) + 5O2(g)( 3CO2(g) + 4H2O(l)  ∆H=-2221kJ/mol
**Given the following thermochemical equations: 

  
2 H2(g) + O2(g) → 2 H2O(l)                                                    ∆H˚ = –571.5 kJ 

 
N2O5(g) + H2O(l) → 2 HNO3(l)                                               ∆H˚ = –76.6 kJ 

 ½ N2(g) + 3/2 O2(g) + ½ H2(g) → HNO3(l)                             ∆H˚ = –174 kJ 

Calculate ∆H˚ for the reaction 

2 N2(g) + 5 O2(g) → 2 N2O5(g)
